Name:

Number of Questions: 40

Testing: 5x (with inverse)

15+5=__ 5x10=__ 4xd5=__
oxidl=s, . . +h=__ aXg= . .
0+9=__ Sx4=__ Ooxb5=__
2x5=___ 85+5=__ 10+5=__
60+-5=__ Sx12=___ 40+5=__
2= 205=__ IXH=_
S5x3=___ 1x5=___ Bxif=._
10xd5=__ . 200=__ TRd= . .
SxS5=__ Bxb= 12%x85=__
Sa1=_ S5x6=__ OIxb5=__
45+5=__ ITx5=__ 0+5=__
bxS5=___ 35+5=____ I3xS5=___
Sx7T=___ 55+6=_ O9x85=__
25+5=__

40 Marked by:

Date: /[



Name:

Number of Questions: 40

Testing: 10x (with inverse)

60-10=___ 7Tx10=___ 1Mx10=___
10+10=___ 10x3=____ 3x10=____
40<+10=___ 10x12=__ 1x10=___
MWxd= O9x10=__ 50+-10=__
100+10=___ S5x10=__ Moxl=
0+10=___ 80+10=___ 10x4=__
2x10=___ 10x2=___ 12x10=___
8x10=___ 120 +10=____ 4x10=___
30+-10=___ 20+10=___ 110+10=___
W=, 10%¥F=__ M0Ox11=__
6x10=__ 10x10=____ 70+-10=___
10%5=_ M00x6=__ 120+-10=__
50+10=__ 10x11=__ 20-10=___
6x10=_

40 Marked by:
Date: __/__/



Name:

30-5=
7x5=

25+5=

35+5=
OSx5=___
20+-5=
556+ 6=
Ox8=

1x5=

60 =10 =

103% 2 =
5%1T2=
10+-10=

Number of Questions: 40
Testing: 5%, 10x (with inverse)

1M0x9=
10x7 =
4x10 =

40+5=
60 =5 =

110 +10 =

b XI=

10x4=

4-%5=

Sx1l=
100 =10 =

45+ 5=
6x5=

Z2XD=

M0x11=___
Zx10=
S5x4=__
Tix10=.
1M00x6=__
19%85=_
5x10=__
3x5=

50+56=

1M x5=
6x10=
5+56=

10x8=

.|
40 Marked by:
Date: __/__/



Silver 2

Name:

Number of Questions: 40
Testing: 2x (with inverse)

IxX2=__ 2¥3=_ 2x6=__
4x2=__ 14+2=___ 6-2=___
2x1l=__ 2x4=__ 4-2=__
2x9=___ 8+2=___ 2x1=__
12x2=__ 22+2=_ 10x2=_
2x8=__ 16+-2=__ 2x2=__
Ox2=__ 5x2=__ 8x2=_
2%5=____ 10+2=___ T#2=_
Ix2=_ 18+2=__ 2+-2=___
Mx2=, . 12+2=___ 2x12=_
2xT=__ Ex2=_ Pl 2 1
20+-2=__ 24 -2=___ 2x2=___
2x9=__ 5%2=_ 4x2=__
OQx2=__
40 Marked by:

Date: / /



Silver 4

Name:

Number of Questions: 40
Testing: 4x (with inverse)

8x4=__ 4x8=___ oxd4=__
32+4=___ 8+4=__ 4x11=__
4x12=___ 4x6=__ 4x5=__
36+4=___ Mx4=__ 4xT=__
20<-4=__ 48 +4=__ 12+8=__ .
100x4=__ 44 -4=__ exXd=
16 -4=__ 28-4=__ IxXd=_
1%8=__ 4x10=__ 4x4=__
4-4=__ 4x3=___ 24 - 4=__
12x4=__ Tx4=__ O9x4=__
4%x9=__ qge2=. 40-4=__
4x1=__ Ex4=__ 4x3=__
28+-4=__ 4x11=__ 12+4=__
4x5=__
40 Marked by:

Date: / /



Silver 8

Name:

Number of Questions: 40
Testing: 8x (with inverse)

16+-8=__ 2x8=__ MeEb=.
24 -8=___ 8x10=__ 8x8=__
8x3=__ 8xb5=__ 8+8=___
7Tx8=__ 8x7T=___ 8x1=__
8x9=__ 32:8=___ 100x8=__
8x2=__ 3x8=__ 9% +-8=__
40+-8=__ 72=-8=__ 8x6=__
1x8=__ 12x8=___ 64+-8=__
Ox8=__ 48 -8=__ 88+8=__
6x8=__ 80+8=__ 4x8=__
Ex8= . . . Sxl12=_ 8x4=__
56 -8=___ Bxil=. 2
32+8=__ 4x8=__ Tx8=__
24 = 8=__
40 Marked by:

Date: / /



Silver Final

Name:

Number of Questions: 40
Testing: 2x, 4x, 5x, 8x, 10x (with inverse)

44 -4=__ 1Mx10=__ 100x9=__
4xbh=_ 7x10=____ 64+8=__
5x8=__ 4x1=___ 5x12=__
12%x2=__ 8x5=__ 6x4=__
24 -4=__ 8§x10=___ 35+5=__
2x6=___ 4x2=__ 24 -2 =

28 TI=_ 25+85=___ 5x10=
4x11=__ 8§x9=__ 56 + 8=
2xb=_ 2x10=___ 32 +8=
oxt=. 10x12=__ 48 - 4 =
2x4=_ 50=5=__ 10x1=

24 -8=__ 2+2=__ A%8=__
48 -8=___ 12%x8=___ 8x8=__
8+8=

40 Marked by:

Date: / /



Gold 3

Name:

Number of Questions: 40
Testing: 3x (with inverse)

30=3=_ 5X3=_ 12%3=_
IxS=_ 18+-3=__ 3x8=__
6x3=__ 3+3=___ 6+3=__
12%x3=_ Sul=. . I3x6=__
Ix2=_ IR3I=__ 36 -3=__
9%3=__ 24 = 3=__ 33+3=__
4%3=___ 10x3=_ I3xd4=___
T¥3=. aX3=_ Inl=
Sx12=__ . 3= 2xd=.
9+3=___ Ixil=s - 3x10=___
15+3=____ 27T +3=______ 1%3=___
21 +3=______ 3x9=__ 18+3=__
6-3=__ Ix7T=__ 3x8=_
oXxt=_
40 Marked by:

Date: / /



Gold 6

Name:

Number of Questions: 40
Testing: 6x (with inverse)

bx4=__ O9x6=__ ix=. .
6x3=___ 12:6=_____ 3x6=__
60-6=__ 10x6=___ 4x6=__
72+-6=__ 36+6=___ Bx11=___
6x6=__ 6x8=__ 42 -6=__
ITx6=___ 66 +-6=__ 6+6=___
S5x6=___ 48+-6=___ Gxi2=,_ .
94 +-6=__ 8x6=__ 24 =6=___
2%x6=__ 18+6=___ Mx6=___
6x5=__ 30+6=___ 6x9=__
Ex1=__ bx7=__ 6x10=__
12x6=____ 6x12=___ 36+-6=__
8x6=__ 72-6=___ 66 =6=___
6x5=__
40 Marked by:

Date: / /



Gold 9

Name:

Number of Questions: 40
Testing: 9x (with inverse)

8x9=__ 108 +9=__ 2x9=__
O9%x9=__ Ox1M=___ Oxd4=___
O9x3=__ 12%9= . O9x1=__
Ox7=__ Sx2=__ O9x6=__
Mx9=____ 27 +9=__ Bx9=
4%x9=___ 9x10=__ 90 +9=__
9-9=_ 81+9=__ 54 = 9=__
18+9=__ 9+9=__ 1x9=___
63+9=___ 3x9=__ 10x9=__
45+9=_ Oxb5=__ S5x9=__
36+9=__ Ox12=___ 72+9=___
T¥9=_ g¥8=_ 4%x9=__
Ox1=__ 5X9=___ Ox11=__
6x9=__
40 Marked by:

Date: / /



Gold Final

Name:

Number of Questions: 40
Testing: 2x, 3x, 4x, 5x, 6x, 8x, 9%, 10x (with inverse)

4x8=__ E6x3=__ 48 - 4=__
Td=. . 18=6=. EBx1=___
16+-4=__ 36+-9=__ 108 +9=__
42=___ 12%3=_ 8x10=___
Mx8=____ 11%6=_ 40+-8=__
4x12=__ 56 +8=___ O9x9=_
12%x9=_ axi2=_ 2x9=___
MWxxt=. 2x4=__ O9x7=__
60-6=__ 2x7T=___ 70+10=___
24 -4 =__ 6x9=_ 9=
64+-8=__ 10x4=__ 9%8=__
10x10=_____ 24 -8=___ 6x4=
10x12=, . I3x10=____ 2% 3=
IWH=.

40 Marked by:

Date:  / /



Platinum 7

Name:

Number of Questions: 40
Testing: 7x (with inverse)

4x7=

637 =

5x7=__
1M0x7=__
21 =T =______
84-7=__
Ox7=__
B=l=_ .
8x7=__
bx7=__
0=7=___
3x7T=__
Tal=s_

1x7 =

7Tx5=
Tx7=
7x6=
r+7=
357 =
77+7=
42 -7 =
Tx12=

fTx1=__
Mx7=__
12%xT=_
4x7=___

Date: [/

% 5=

56 =7 =

Marked by:
/

TRP=
Tx4=__
iT%10=__
2xT=__
14=7=__

fx3=__
49+7=__
TxTM=__
Ix9=__
Ox7=__
M0x7=__




Platinum Final

Name:

60 -5=

15+5=

3x6=
Tx2=
3+3=
1x7T=
9x9=
6+3=
3x3=

24 -3 =

8x2=

77 =7 =
11x10 =
9x10=

40

Number of Questions: 40
Testing: 2x, 3x, 4x, 5x, 6x, 7x, 8x, 9x, 10x (with inverse)

axXD=

SKG=

4:4=

Date:  /

4x3=__
2x12=.
8x10=___
11%5=__
9x12=__
80+10=___
1IX3=__
14+2=__
dx6=__
i W

Gx b=

S5x4=__
4x10=__
2%6=___
6x4=__
4%x9=__
10x9=_
Ix2=_
7% T=_
Ix11=__

36 -9=

4x10=
1x2=

Marked by:

/




Diamond 11

Name:

Number of Questions: 40
Testing: 11x (with inverse)

11x12= 11x56= 1M1+11=

Mx11=__ 8x11=__ Mx10=___
2x11=__ Mx6=__ 12x11=__
M0Ox11=__ 98+11=_ 1x11=___
33-11=__ 121 +-11=__ 4 - 11=__
Sx11=__ Mx9=__ 4x11=__
Mx4=__ MM+=11=___ Mx3=____
Mx1=__ Ix11=__ Mx2=__
Mx8=__ Mx¥=_ 22 -11=__
BX1l=__ OxXTl=_ _ 1M0=11=__
88 +-11=__ 3x11=___ V-11=__
66 -11=__ 132-11=__ Mxd=.
55=11=__ 5x11=__ Mx11=__
Mx4=__
40 Marked by:

Date: [/ /



Diamond 12

Name:

Number of Questions: 40
Testing: 12x (with inverse)

% -12=___ 6x12=__ 12x2=__
Ox12=__ 12x3=__ 12:12=__
6+12=_____ 1x12=__ 1M x12=__
12x1=_____ 24:12=_____ 108 +12=__
12x8=_____ 12x9=_____ 12x12=__
12x11=_____ 10x12=____  4x12=_____
84+12=__ 132+12=____  12x4=____
3x12=_____ 12x6=___ 144 :12=___
2x12=__ 5x12=__ 60x12=__
48 +12=___ 72:12=__ 120 +12=__
12x10=____  8x12=_____ 7x12=__
12x7=_____ 12x5=_____ 1x12=__
9% -12=__ 84 -12=__ 3x12=__
108 +12=__
40 Marked by:

Date: [/ /



Name:

Diamond Final

Number of Questions: 40
Testing: 2x, 3x, 4x, 5x, 6x, 7x, 8x, 9x, 10x, 11x, 12x (with inverse)

Ix2=__
Twl=_
30-6=__
6x2=__
12x11=__
S%9=__
1x%b=. .
9% +8=___
Mx9=_

bx2=
F i o —
7 x8=

hxb6=._.
120+12=__
Bx2=__
d¥5=
gxf=__

10x11 =
O9x10=

11 x3=
24 - 8 =
3x3=

Sx12 =

Bx1=

12x 7 =

48 =12 =

40

Date:

[ __

30+10=___
H+0=__
14=7=__
2Ha=
MIx6=__
8x11=__
7Tx11=__
OGxo9=.
6x10=__

40 - 8 =
10+2=
72 -6 =
12x 4=

Marked by:

/



